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&RPPLVVLRQ LPPHGLDWHO\ DIWHU DUULYDO�GHSDUWXUH@

'DWH RI 5HSRUWLQJ

2EVHUYHU 1DPH

2EVHUYHU &RGH

1R� DQG 1DPH RI WKH &RQVWLWXHQF\�LHV

1DPH RI WKH 6WDWH

&RQVWLWXHQF\ )D[ 1R� 2IILFLDO )D[ 1R��

&RQVWLWXHQF\7HOHSKRQH 1R� 7HOHSKRQH 1R�

&RQVWLWXHQF\0RELOH 1R� 0RELOH 1R�
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� 'DWH RI $UULYDO�'HSDUWXUH RI
2EVHUYHU�

�SOHDVH VWULNH RXW WKH SRUWLRQ�
ZKLFK LV QRW DSSOLFDEOH�

� :DV WKHUH DQ\ EUHDN WDNHQ E\ WKH
2EVHUYHU IURP WKH GXW\

� ,I \HV� JLYH GHWDLOV

� :DV WKHUH ODWH UHSRUWLQJ WR GXW\

� ,I \HV� E\ KRZ PXFK WLPH�

3ODFH � 6LJQDWXUH RI�WKH 2EVHUYHU
'DWH �


